5345A-8
SERVICE N OTE

Supersedes:

None

HP MODEL 5345A
A10 GATE CONTROL ASSEMBLY
TROUBLESHOOTING PROCEDURE

This troubleshooting procedure is written specifically for A10 boards with

part number 05345-60010, series 1436A. The series 1340A differs in that
the cathode of CR1 connects to the output of U20B, rather than U20C.

The troubleshooting is divided into two parts: the Function Selection and
Decoding portion and the Arming Control portion. Always perform the
Function Selection and Decoding troubleshooting first. This will take only
a few minutes to check but may save several hours. The only circuits
that are not covered are those associated with external arming and gating

and the gate amplifier circuit. The symptoms and failures should be

readily associated to these circuits.

i NOTE
This procedure assumes the problem is on the A10 board.
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FUNCTION SELECTION AND DECODING

Set: FUNCTION to FREQ A /“s\
GATE TIME to 1S ' "
SAMPLE RATE to HOLD

K-CQM.SEP to Cr:z& C

RS LRI o A8, (rear fual)

Check the lines located on the left side of the white cut out in the center of the schematic.

The proper conditions of these lines are as follows:

SCH - 0 (P1A pin 13): ECL High

TI + EVT (P1B pin 13): EECL Low (-.6V) (Line should go High (0OV) if FUNCTION
switch is changed to TIME INT A to B.)

Pl ¢ [SIGN -] +Ple [CHK + (A -B) SW] (P1A pin 16): TTL High (Line should go Low if
CHECK switch is changed to COM A
position.)

Tl + EVT (P1§ pin 15): EECL High (OV) (Line should go Low (-.6V) if FUNCTION switch

is changed to TIME INT A to B.)

Pl SEL (P1A pin 21): TTL High (Line should go to TTL Low if FUNCTION switch is
changed to PLUG-IN.)

HZ LITE (P1A pin 7): TTL Low (Line should go to TTL High if FUNCTION switch is
changed to PERIOD A.)

NANO MULT (P1A pin 22): TTL Low (Line should go to TTL High if FUNCTION switch is
changed to PERIOD A.)
SEC LITE (P1A pin 10): TTL High (Line should go to TTL Low if FUNCTION switch is 14 '}
changed to PERIOD A.)

EVT + RAT + ST + STP (P1B pin 4): TTL Low (Line should go to TTL High if FUNCTION
switch is changed to RATIO B/A.)
EXT AB (P1A pin 20): EECL Low (-.6V)
PER + TI (P1A pin 11): TTL Low (Line should go to TTL High if FUNCTION switch is
charé%g to PERIOD A or TIME I&\IJ_A to B.)
RATIO + ST (P1B pin 16): E# Low (Line should go to F#% High if FUNCTION switch is
changed to RATIO B/A or START.)
EXT C (P1B pin 14): EECL Low (-.6V)

ST + STP (P1B pin 10): TTL High (Line should go to TTL Low if FUNCTION switch is
changed to START or STOP.)
NOISE CONTROL (P1B pin 15): TTL High (Line should go to TTL Low if FUNCTION switch
is changed to TIME INT A to B.)

TEST (P1B pin 17): EECL High (0OV) (Line should go to EECL Low (-.6V) if CHK-COM-SEP
switch is set to COM A.)

Proceed to ARMING CONTROL Troubleshooting, page 3.
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FROM PAGE 3

YES
—— 15 U18B(9) an ECL High (-.evﬂ-'&_

)/ VES 1‘
| Replace U18. l Is U11B(6) an ECL High? Iﬂ1

YES | Are pins 10 thru 13of | NO

U18B ECL Low? I

Replace U18. Pins should be Low.

Trace inputs back.

v

YES
E U11B(4) an ECL Low (-1.6V)? 'N—Ol
'

YES s u118(5) an ECL Low?J YES | is Resolution F-F U22A(7)
‘NO an ECL High?

o

Check that U7D(11) js a TTL Low, Problem is in

U248(13) is an ECL , and that U22A or U24A. Push RESET and check that U22A(2)

U11A(3) is an ECL High. (Follow is receiving a reset pulse from U3B,

schematic.) U5B, and U10. If so, problem is in
U22A, or U23B(6) is High rather
than Low.

FROM PAGE 5

YES Set SAN.IF.’LE RATE c.ontrol to full NO
ccw position. Does display show
100.000000 MHz with each gate?
v  /
vEs | Set GATE TIME to 100 ns. Does |\ Set GATE TIME to 10 ms. Set scope
c!lsplay go to all zeros and GATE to 5 ms/div. Place scope probe on
light go out? SCLR RST line at P1A(17). Are
J' EECL (0 to -.6V) pulses present?
- If not, check U16D, U19A, and
[ Check diodes CR1 thruCR4.|  yg|Set GATE TIME switch to MIN.] 18,
Does display continue to gate
and show .1 GHz?
If problem still exists, it is outside Eheck U23B, U3A, and UZD.]
the scope of this procedure. Suggest

a thorough check of Resolution cir-
cuit, as this area can cause subtle
problems.




